% »"‘@ Q l Expoentes negativos de 10

Nome: Encontro: Data: Pontuacio:

100D = 1004 =

857,4x 107 = 1002 =

100% = —1x10" =
781,2+ 1002 = 267,8 x 1009 =
231,8 x 1001 = 576,5 x 1002 =
—1x10% = 492,9+ 107 =
1x10= 775,9 x 1002 =
3x 1001 = 5% 100Y =
1077 = 1002 =

759,6 x 107D = 739,9+ 10 =

www.snowmath.com


https://www.snowmath.com

Expoentes negativos de 10

1077 =0.1

857,4 x 107 = 0.8574
107 = 0.0001
781,2+ 1072 = 78120
231,8 x 10°) =23.18
—1x10* =-100
1%x10=10

3x 1070 =03

107 = 0.001

759, 6 x 1001 = 75.96

Encontro: Data: Pontuacao:

10°% = 0.0001

1072 = 0.01
—1x10°=-1

267,8 x 107 = 0.2678
576,5 x 102 = 5.765
492,9 + 107 = 492900
775,9 x 1002 = 7.759
5x 10 = 0.0005
1072 = 0.01

739,9 = 107 = 7399000
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